Parts List «..x:

A DUEN

Model: AD2300L-SP IN—YY ZFI—F 525020
AD2300G-SP

Q = LLEETR

MARLIYAMA MFG. CO.,INC. 2020. 0.



HMETRDERIZDINT

1.

o a & 0N

=N R
AD2300L-SP
1 R R cee i e e 1
AD2300G-SP
D AN R e i e 3
AD2300L-SP / AD2300G-SP T> =~ (EE231/67)
3.5 — 2, SUSDA e 5
O I B O 1 Y At A RIS 9
5. FvILY. TFOU—TF BRGZD v 11
AD2300L-SP / AD2300G-SP
B. A B Ghicevrerverereoescemeteineeiinteiineeiineeenneens 13

EERDTIEXDRIE

wiEL (BR) - BaES - BHaEW - BETHEZSL,

INTEATIA [ E R R D EE R ESSRBZEL,

BealEnd THILMIESSR I ZIERATIZIL,
AEBRIFEBLIZEDIHYET,
AMRRIIBRDAEFELGKEETLIENHYFT,

Fig. DFRRIZTDNT

AZAMR—=U|ZFig. XXBBERTLTHYET . COXXKIFASAM—D
ELODRELBEFTERLET,






AD2300L-SP
1.K 1K

27 —@

23




A:AD2300L-SP B:AD2300G-SP

(B

RHEE| Bnais w8 & A % =
1-1 364895 | AD2300L-SP 1

1-2 227825 |TUNIVY 1

1-3 242404 | K )VUN4hUIbA 1

1-4 012382 |C h'abA7 1 H36

1-5 211736 |K44-%") B 1

1-6 211737 |[NUN 2

1-7 234554 | M)A ARYMLLN = (24) 1

1-8 242411 | ARYMLIAY 1 365L I/0 62
1-9 213548 |4 —+F1-7 1 3t" 10 200L
1-10 | 226928 | AA'ILEM3 1 11 ~ 137414
1-11 | 226988 |FA3%Y (+) 1 M5X18
1-12 | 012487 |E3%'h'% 1 M5

1-13 | 126993 |6 hHFYh 1 M5

1-14 | 228077 |¥'Yh—-R9347T 1 15 ~ 21 7494
1-15 | 234247 |6 hHf Lk 1 M8X8

1-16 | 092550 |6 HH& L+ (+)SW 1 M5X25-7T
1-17 | 212986 |AE/K'R A 1

1-18 | 219195 |nE/K'AB 1

1-19 | 215610 |6 AY& L+ WSW 1 M8X22 t41)
1-20 | 222128 |v{VFKIYNY 1

1-21 | 222129 |4YEV#RY 1 5X20

1-22 | 089737 |6 A4k Lk 1 M5X12
1-23 | 220549 |F1943—9 1

1-24 | 242412 |%—L7°L—F 1 AD2300L-SP
1-25 | 239693 |nv—) 1 vy
1-26 | 222059 |KIVUN=7 nIN V34T 1 27,28 741
1-27 | 126993 |6 hH Tk 4 M5

1-28 | 222142 |$A"2%2Y° (+)W 4 M5X28
1-29 | 220533 |hahhN UM H34T 1

1-30 | 222821 |V A9rVvhiN—434T 1 31794
1-31 | 092561 |6 h9HK Lk (+)SW 2 M5X25
1-32 | 227509 |FY7°Y-9 1




AD2300G-SP
2. K K




A:AD2300L-SP B:AD2300G-SP

RuES | HeEs %8 A W — B =
2-1 364896 | AD2300G-SP 1

2-2 227825 |TUNIVY 1

2-3 242404 | K )VUN4hUIbA 1

2-4 | 012382 |C h'4bAD 1 H36

2-5 211736 |K44-%") B 1

2-6 211737 |[NUN 2

2-7 234554 | MJATARYMLLN — (24) 1

2-8 242411 | ARYMLIAY 1 365L I/0 62
2-9 213548 |4 —+F1-7 1 3t" 10 200L
2-10 | 226928 | A{A'JLERYZ 1 11 ~ 13 744
2-11 | 226988 |FAIxY (+) 1 M5X18
2-12 | 012487 |t3%h'% 1 M5

2-13 | 126993 |6 H9+ Yk 1 M5

2-14 | 211735 |FU34=%) A 1

2-15 | 211737 |nWUN 2

2-16 | 228077 |¥ ¥r—A)34T 1 17 ~ 23 7494
2-17 | 234247 |6 hHF Wb 1 M8X8

2-18 | 092550 |6 hYf Wb (+)SW 1 M5X25-7T
2-19 | 212986 |NE/K'R A 1

2-20 | 219195 |AE/K'AB 1

2-21 | 215610 |6 h%#k L WSW 1 M8X22 t4™)
2-22 | 222128 |VEYEKRHUNY 1

2-23 | 222129 |4vE'VRY 1 5X20

2-24 | 089737 |6 hHK Lk 1 M5X12
2-25 | 220549 |F194{v—% 1

2-26 | 242416 |#—L7°L—F 1 AD2300G-SP
2-27 | 239693 |nJv—9 1 Yoy
2-28 | 220533 |hEhTNUNIIET 1

2-29 | 222821 |YAYAVAN—H34T 1 30 79L
2-30 | 092561 |6 h4k Wb (+)SW 2 M5X25
2-31 | 227509 |FY7Y-9 1




Tr>=>>

2UZA

A

—A

SP / AD2300G-SP

3. 925200

AD2300L-

16

A E(FTTE

55

3¢202043H ~6A

— 50A—

<
AN
Yo

—49A——54A

<

)

<
|

¥ ~2020%2H
2020 7H ~




A:AD2300L-SP B:AD2300G-SP

(B

RHEE| Bnais w8 & A 5 % =
- 875425 [1VY°Y 1 EE231/67
- 875426 |1y EE231/67
- 289639 |u4’

- 289643 | ATk TO.5

- 267290 |A%Y1 M5X20

- 272744 |4Y1L-4

- 267049 |H AV

- 269826 |FAI%Y (+H)WSW M5X25WSW

- 246697 |¥777t77Y 9~ 11744

- 246707 |h Ak

-10 | 246704 |T4NaV7")—b

-11 | 246526 |A%')1 M4X8

-12 | 266402 |6 h97+V*K L WSW M5X55

-13 | 247073 |H'AHYb

—14 | 276868 |7U% —hin -

-15 | 269827 |FA3%Y (+)WSW M5X16

-16 | 247156 |MY7°hin=13771)—h

-17 | 563151 |A%Y)a1 M6X15

-18 | 261878 |+Yh

-19 | 246082 |F5R34Y" (+) M4X12

-20 | 273674 |973v90—-2

-21 | 280488 |A 7YYy PPL 6001
2 | 261492 [AALY—Ib ISCD12287

-23 | 261386 |F Y- ISCD12227

—24 | 055185 |C h'4bA7 H28

261612 |6 97V Wb WSW M5X30

272204 |E°AbY
264891 |[E"AMVY
261036 |E°AUE"Y
288520 |Z—FLATYIY

»

~

(]

({e]

8E-KV8X11X11.8

o

261576 |¥—=9v7°
274146 | 97099%7b3077)—F

—

-h-h-l>-h-hwwOOODCOCOOOODCOCONI\DNI\)ENNI\)NN—‘—‘—‘—*—*—‘—‘—*—*—l@m\ICDm-hOJI\)—k—k
D e = =S N DNNDDNN= NN = mt NN = =N = W= = emt N = em m e =t = N =N =N = =N = -
B e e e = = NN N =N = = N = = N = O e e N e e e e el e = N = N =N = = N = e

-32 | 269168 |93YF7tY7"Y 33,34 741
-33 | 269169 |43YFva

-34 | 269173 |27y

-35 | 269647 |97YFK b

-36 | 269175 |7YY¥ 6.1X15X1.6
-37 | 261777 |9I-7"7Yv%

-38 | 246958 |77UhN-TtV7) C 39 ~ 43751
-39 | 246959 |77vhnN-Tty7) 40,41 741\
—40 | 269124 |ATYVY 6200ZZ C3
-41 | 013825 |C h™4hAT #30

-42 | 289727 |97YFN L3077}

-43 | 014210 |C h4hAT S10

-44 | 269831 |FAI%Y (H)WSW M5X20WSW




Tr>=>>

2UZA

A

—A

SP / AD2300G-SP

3. 925200

AD2300L-

16

A E(FTTE

55

3¢202043H ~6A

— 50A—

<
AN
Yo

—49A——54A

<

)

<
|

¥ ~2020%2H
2020 7H ~




A:AD2300L-SP B:AD2300G-SP

(B

HaES B & & W A B fi& z

246930 |7°0T9Y VAN - 1 1

246787 |INAUNIRY (+) 1 1 5X18

274927 | ¥ Rk T7EYTY 1 1 48 ~ 54794 ~ 20204 2 A, 2020 & 7 H~
283397 |O—4 1 1 ~ 202052 A, 20205 7 A~
283165 |49 =9Y3va4NTEY7Y 1 1 50 ~ 54 794 ~ 2020 &£ 2 B, 2020 £ 7 B ~
283268 |1-FNT7tV7) 1 1 5152794 ~ 20204 2 H. 2020 7 B~
283178 |77 %¥v7 1 1 ~ 202042 B, 2020 7 B~
272805 |79 1 1 ~2020F 2 B, 202057 A~
283271 [¥¥V7 1 1 ~ 202045 2 B, 202057 B~
283272 |F1-7 1 1 ~ 2020 2 B, 20207 B~
274191 |57 1 1 A9AVFIN4

261076 |NUT9%— 1 1

261417 | 4749 H 29%FYb 1 1 M8

280381 | A~ 2 2

261256 |6 h97 V%&b WSW 2 2 | M4X25

286739 | AN-97°3Y 1 1 CcJeY

269722 |Y)—-F 1 1 ~ 202052 8. 2020057 B~
282880 |- 1 1

246078 |7 0AYb 1 1

264588 |4707° 1 1

269705 |FAIL 1 1 VYN ELAVEY,

277796 (X9 2727 1 1 48A ~ 54A 794 2020 £ 3 B~ 6 A
277797 |04 1 1 202003 A~6 A

277798 |49 =934V T U7 1 1 50A ~ 54A 794 2020 £ 3 B~ 6 A
279577 |31—F 9347 1 1 51A,52A 794 2020 £3 B~ 6 B
278755 |79 %%y7’ 1 1 2020 3 H~6 A

278756 799 1 1 20205 3 A~6 A

278752 |¥¥Y7’ 1 1 2020 3 A~6 A

278754 |F1-7 1 1 20203 A~6 A

263804 |!)—F 1 1 2000 3 B~ 6 H




AD2300L-SP / AD2300G-SP T >>>
4. UdAAIVAT -3




A:AD2300L-SP B:AD2300G-SP

BHES | HREs 5B 4 W fEs

wm &

282404 |JIMNARG—4T7 177
282405 | A4—47+€7")
283411 |-

283412 |hL7°L—}

280930 |4 UnN—R7WUY

2~ 11794
3~ 10794

280931 | ANATNART YUY
267213 |tYbRY12
280932 |A-7°7tY7)
280933 |A4—40-7°
267219 |A4—4)7

9,10 794

0
1 | 280934 |7°-Y7t7"
2 | 280489 |[FAIRY (+)WSW
3
4

M4X20
M4X16WSW

269833 |FAI%Y (H)WSW
247103 Y34 LFN

R I S E S
— w4 2 alm oo woa AN =

-10 -




w N

o

5.FvJLA. IF7OU—F, RS> D

-SSP I

AD2300L-SP / AD2300G

5742

-11 -



A:AD2300L-SP B:AD2300G-SP

(B

HaEE w8 & A 5 % =
5 289885 |¥Y¥7 LA7tU7 1 1 2 ~ 157494
5 274472 | KVTKTA 1 1

5 262991 |N=YK'T4 1 1

5 262992 |KV7hn - 1 1

5 261874 | 7747 1 1

5 283905 |4'1¥77L 1 1

5 262993 |H A Yb 1 1

5 262994 |3 4Y77L4 1 1

5 282576 |h Aok 1 1

5-10 | 285030 |¥ IWh 1 1

5-11 | 261871 |0 Yu¥’ 1 1

5-12 | 261876 |)u¥ 1 1

5-13 | 261658 |A{A")L 1 1

5-14 | 264682 |21 2 2

5-15 | 262996 |A%'1 4 4

5-16 | 261864 |H ArYb 1 1

5-17 | 284823 |7—A7+tY7") 1 1 18 ~ 24 741
5-18 | 269050 |4—Rik'T( 1 1

5-19 | 284802 |N L7 1 1

5-20 | 284803 |Ln— 1 1

5-21 | 284816 |7YY¥ 1 1 6.4X11X0.15
5-22 | 269032 | A% 1 1

5-23 | 126993 |6 H9+ Yk 1 1 M5

5-24 | 269051 |A)—7" 2 2

5-25 | 269030 |ILAUb 1 1

5-26 | 281777 |FA 3%y (HWSW 2 2 | M5X55WSW-T7T
5-27 | 283772 |9Y—Fhn'— 1 1

5-28 | 281438 |/7 1 1

5-29 | 273515 |4V97t07" 1 1 30 ~ 40 79 L
5-30 | 273516 |71—I4v% 1 1

5-31 | 275306 |4v9%¥977€077) 1 1 32 791
5-32 | 274875 |NYxY 1 1

5-33 | 261696 |7)—4H34T 1 1

5-34 | 265752 |4#V)AUNATTEUT) 1 1 35 ~ 40 741
5-35 | 264031 |47 934T 1 1 36 ~ 38 744
5-36 | 261115 |4°AAYp 1 1

5-37 | 261690 |#Y)3AINAT’ 1 1 160L

5-38 | 263038 |A—n70-N47 1 1

5-39 | 277887 | 744777 1 1

5-40 | 261117 |9Yv7° 1 1

5-41 | 269828 |FA %Y (H)W 2 2 | M5X16W
5-42 | 281208 |FAI%Y ()W 1 1 M5X16W A94
5-43 | 281596 |FAIL 1 1 F3-9




AD2300L-SP / AD2300G-SP
6. 1% &

-13-



A:AD2300L-SP B:AD2300G-SP

HaES 5B 4 W fEs

wm &

221460 |3 M %
220534 |hYnhiv—
210418 |(AVERYHAARNT
219431 |6 W9 )ANT
022865 |'JAY FANT

AN 3
8X10

_L_L_L_L_L_L>
— | — — e ) ),

242407 |M)TIR4EYAY3 AD2300/2600-SP

-14 -




AKX
EsEHERRO
Ly FE—- b 42— EE 0120-898-114
ZFIFARER: AN9:00~PM5:00(t+. H.#1B %k <)

Printed in japan 2020-06.J

EHENEETY



